EL 2 — ALGEBRA

Note:  Jnly turn back to page number if you have difficulty

Q1. Simplify the following expressions:
(8) 8p+3¢g—5p+11g ' (b) 6x—-3y-3x+y

(c) 16mn +4n | @ (6353)2 © (5::32532)2

(5 6m2n + 3mn? + Smm? (g) ab—3a?+ 5ba—ab
(h) 7x+ (—5x) +2x Q) @ExxT)+2x5

() 5xx3xx4x &) (5mx3m)+m

(1) 42a + (- 6a) ' (m) 1547 + 34

(n) 5x6x3x5 (0) 63a?b +3ab

Q2. Expand and simplify:

() dx +2) +6x (b) 5(@+3)+4a (c) 2m+3dm+ 1)
(d) 9b+3(2b +2) () 95 -4x)+10x () 6+2(3x+4)
(@ 1I5+x-1D () 8y+32y+2) (i) 6m+3(m—-2)

Q3. Factorise the following expressions by taking out the factor common
to both terms:

(a) 3x+9 (b) 5-15x (c) ab+2a
(d) 8~14y (&) dm—12 (H 18m+24
(g) 12x-18 - (h) 6a-8 (1) 5ab —20ac
Q4. Simplify the following fractions:
dm 2m 2m 6m

4
()9+9

b 3b X 3m  3m
£} —+— h) — -
© 4 8 ] ®) 4 6
Q5. Simplify these products:
. X_a m_n o 2a_ 6
(a) —x—. b) —Xx— — d) —x—
32 ( 4 6 @ 3
2x 4 - 2n + 5 ’ a
g) —X— — X — h) —
(©) 3 x ® 5 4n 5 ®) b
Q6. Simplify these divisions:
b b : 2
() =+ - B ===
6 2 - 4 4y
X a ' 3 X
B =+ : ) =+
y b ' . S5x 2
Q7. Expand these binomial products:
(&) x+2(x+3) (b) (@+3)B+5 (€) n+ 1D(m+6)
d G+NDo~2) © (n+Dim+1) 6 @+50-1

b
% —
a

@ (@+3)@=3). (1) Zx+NE=1 () (m+8)(n-3)
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